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Lo ) THIEEHEAR 02 (A) f()=x"-3 (B) f(X)=log;x (C) f(x)=5" (D)
f(x)=log, x

2. ( ){[:%E%I092+Iog\/l_—%logo.6: (A)1 (B0 (C)10 (D)2
3. ( )1kFH (log,, 2)° +(log,, 5)° + (log,, 5)(log,, 8) IHHAEZERY (A4 (B)3 (C)2 (D)1

4. () BEREE S THNETEARERE?  (A)log,4>0 (B)log,;4<0 (C)log,2<1 (D)
log,;0.2<1

sf

5. B2 = CHix= (A1 B2 (O3 (DM

6. () FHIFERIL?  (A)log,5=10g,25 (B)log,1=— (C)logy(-8)=~log,8 (D)

log, (7°) = (log, 7)°
7. ( )#log4.78=0.6794 > HIlog47800=  (A)4.6794 (B)3.6794 (C)4.3206 (D)0.6794

8. ( )E4Ilog3.12=0.4267 - Hlog31200=  (A)1.4267 (B)2.4267 (C)3.4267 (D)4.4267

9. () THIEFEPURERNBEEN ? (AZERY - BEAFIS—E - (65 — BBt IET
(B)ZEfEH - ST —EHSEWMAHRZESR AHYT (OZEMEF - EE FEIVWAHZEESR GHW
17 (D)ZEMEF - BEMELIN B A — P ERER

10.( )#logox=3 - Hix= (A)I125 (B)I5 (C)g (D)%
1. () 33=9"-Hlx= (A0 B)I (C2 (D)3

12.( ) EXllog2=0.3010 - EU( )1°'MfJ\§§Q!£LAT%AzﬁZHﬁE$7%OE’J%ﬂ (A6 (B)7 (C)8
(D)9

13.(  )BEHilogl.09=0.0374 > #logx=2.0374 > Hix=  (A)10.9 (B)109 (C)1090 (D)10900

14 ( )Wﬁ%(g)“<104‘H@E%'/J\%%zn=?(|og3=0.4771) (A)I1 (B)I0 (C)9 (D)8
15.( ) f#EfEatlog,(x+3) =3 » Hlx= (A28 (B)26 (C)24 (D)22



16. () FoHaEBFRER (7) =16 2 EHHE? (A1 (B2 (04 (D)6

17.C ) FYIRGI =SSR 7 (A)y=log,x FyBfSARIE &L (B) Y = log,x HYHEF .00 i 4% (1, 0)
(C)y = log, x G iEEE: (1,0) (D) y=log,x By = log, x FYE[ZETEHA B4R y = x
2

18.(  )#%a=316,b=+8,c=%32 > HITHIIEFRE? (A)b>c>a (B)a>b>c (C)b>a>c
(D)a>c>Db

J27

19.( )8 =T L

1 1 1
» Allx = (A)_Z (B)—g (C)_E (D)—3—2
20.( ) FHIE[EERE?  (A)log,(—4)=-log,4 (B)log,(x’y?*)=2log,xy (C)
log, (x* +y*) =log, x* +log, y*  (D)log J3=log,3

21.( ) 2x+5y=20 > Klogx+logy i AfEH= (A2 (B4 (O (D)%

22.( )ETPP=343 5 HINE+7-¥ox = (A2 (B)-2 (O)1 (D)-1

23.( ) THUEIHIERE?  (A)log, 5>log, 3>log, (0.2) (B)log,3> log, J2>log.1  (C)2°>2% 24

(D) (0.5)° < (0.5) < (0.5)"?
24. () GERE—EEILITHEE - NIMEE 4B BCGF E=H 7
H G

A 5 (A)ERREA (B)E#REF (C)H#REB (D)HIREG

25(  )loglo00 ZfERs (A)1 (B)2 (C)3 (D)4
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